790 ADVENTURE, black - IKD 2024 <2024><AR><F9642X2>
SIDE / CENTER STAND

@ -
®
Pos Part Number Description Additional Text Quantity
1 C63503023000C1 side stand ADV-S 1.00
2 C61003024000 Feder L= 116 mm 05 1.00
3 C0900000801000 Special screw side stand sprin 1.00
4 C90703027200 SCREW FOR SIDE STAND M10X31,2 1.00
5 C63503026100C1 side stand bracket 1.00
6 93511045000 SWITCH SIDE STAND L-PART 1.00
7 0738050202 Lens head screw ISO 7380-M5X20 2.00
8 90103029000 MAGNET HOLDER L-PART 1.00
9 C90703001099 Racket side-stand-cable 1.00
10 N0079850501000S Oval head screw DIN7985 - M5x1 2.00
11 C0000351003000S SHCS M10x30 TX45 1.00
12 C63503016040C1 Main stand console right 1.00
13 60303023111 RETAINING BOLT 1.00

62579



